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7.4 T N=<V,E,c,s,t> N()=<V,E(f) ac,s,t> ,HH
E(H)=E"(H)H UE (P
ET(H ={<i,j>I<i,j>€ E N\ fG,j) =0}
E - (f) ={<ij>|<j:i>€ EN f(jsi) =1}
SF VY <ij>EE() #FH<<ij>€EY (), fi,j)=0,acCi,j)=c(ij)— fli,j)=
1; #H<ij>€E (), Macli,j)=fG,d)=1. ik N(OFAHAHERN 1.

MFVIiEV—_{s,t}, MF i EN FHROAENL,E<p,i>,<i,q >, ,<i,q>€EE,
A LATF P AT 68 .

(D) fCpy ) =1, fGoq)s>s flUyg)PA—TFF 1, HKBEFETFT 0. AP,
flaq) =1, fl,g)=2=f(i,q)=0. FR,<q,i>,<i,p>,<iyq>>,<i,q>€E
E.ifE N(HOHE AN 1.

€2) fCpsi)=0,0 fGyq) s+ g )RFHTF 0. FR,<pyi>,<ivqi >y, <i,q >€E
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7.7 WSRO T AR Bk Y 2 Bk 10 6 6 e K
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7.7 BE—APETE o B AT 0 (1), 02— KL <o(l1),0(2)>,
c(v(1),v(2))=c(v). B—HA<u, v>FHFW<u(2),v(1)>,c(u(2),v(1))=c(u,v). X
BYE,s(D=s()=s,0(D)=0(2)=t. BPMTHEFRMYE N' =<V, E',,s.,t>,Hrh.

V' = {s.t} U {v(1)y0(2) | v € V— {s,t}}
E = {<u@),v(1) >|<u,v>€ E} U {<ov(D),v(2) >|vE V—{s,t}}
2 e) = c(uyv), e=<u(2),v(l) >, Vee E
c(v), e =< v(1),v(2) >,
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BHEWMTF .

1. f<0

2. W& NCOO

3. ¥ Ford EEHE N(HOHFLL aw HH st FEHERE

4. if NCOHRRFRE st 8842 then return f /1 f i/ oK

5. WSREMRERZ N P,0<min{ac(i,j)|<i,j>€ E(P)}

6. for <i,j>€ E(P) do

7 if <i,j>€E then f(i,j)< f(i,j)+0

8 else f(j,1)< f(j,i)—0

9. goto 2
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2 35 20 11.0
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7.22 RAXAH S A TAERA, B RAHEE DA, B 5 AR5l A H i, A H
WAL 1.2 3K 3, B HRAL 1 8 4,C f D Hi 4 85, E BRI 5. dnfa] & HEA RERE /R AT
i 25 ) W 2 B 7

7.22 fi-¥WE G=<X,Y,E>,# % X={(A,B,C,D,E},Y={1,2,3,4,5},E=
{(Cxoy) |z BIFROLy ) B 7. 13Ca) fr7R. [ERKR G BB KU RL. FH &9 5F FI) 3 ok oK g
i 3 BIRAS B BTE M, ={(A,1),(B,4),(C,5)}, WA 7. 13(b) L. #TF
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fR 7 8 a al

A 1 A | A |
(1] [B]

B 2 B 2 B 2
[4] [A]

G 3 C 3 C 3
[51 [5]

D -+ D 4 D 4
[0] [D] (4] [C]

E 5 E 5 E 5
[0] [D] [0 [E]

(a) (b) (c)

K 7.13



